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Problem quickname: 4913
L) Quick:
4913
Calculate the result.
a) 98 +7=14 b) 84 +7 =12 c)34+-8=4R2
d)92+4=23
27> Quick:
4913
Calculate the result. Use the written method.
6768 ~94="72 8811 +89=99
@ 7-94=658 & 9-89=801
a) 6768 + 94 = 72 188 b) 8811 <89 = 99 801
188 2-94=188 801 9-89=801
0 0
37) Quick:
4913
Calculate the result. Use the written method as in example a).
953 +-5=190
441 +-9=49 5 1.5=5
% 4-9=36 15
a) 441 -9 =49 81 b) 953 +5=190R 3 45 os=ss
81 o9.9=s1 03
70 O 0-5=0
3
679 ~8=84 306 ~8=38
% 8-8=64 % 3:-8=24
c)679+-8=84R 7 39 d) 306 -8 =38R 2 66
32 4.8=32 64 8-8=64
7 2
47) Quick:
4913
Calculate the result. Use the written method as in example a).
7896 +~12=658
5091 =74=68 72 6-12=72
% 6-T4=444 769
a) 5091 + 74 = 68 R 59 651 b) 7896 =+ 12 = 658 60 s:12-60
592 8:-74=592 96
59 96 s.12-96
0
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Solutions to smp-4913-2/XKJW

6992 +-46=152 6120 +-17=360
46 1-46=46 51 3-17=51
239 102
¢) 6992 = 46 = 152 230 saocam d) 6120 = 17 = 360 102 oirs
92 00
92 2.46=02 0 o17=0
0 0

Good Luck!
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